1) Suppose that the demand for a good is given by The marginal cost of production is  The good is produced by a monopoly whose profit is 
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Find the the quantity of production which maximizes the profit.
2) Suppose that the demand for a good is given by The marginal cost of production is  The good is produced by a monopoly whose profit is 

Find the the quantity of production which maximizes the profit.
3) Solve the constrained maximization problem below:

s.t.

Hint: You can substitute x for y using the constraint into theobjective function. You can use Lagrange method. You can use MRS=px/py rule. All of them would work.
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